


A regular pyramid has a square base.
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Formula for Volume

Volume = ! Area of the Base x Height
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Formula for Lateral Area

L.A. = 3 Perimeter of Base x Slant Height =g
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Therefore, to calculate Total Area and Volume
of a Pyramid you must find four key pieces of
information:

1. Area of the Base - e?

2. Perimeter of the Base - 4e
3. Height of the object - h

4. Slant Height - |



Example 1 Base Edge (e) - 12in

8in = h “‘I‘Oin = Height (h) - 8in

7 \ Slant Height (1) - 10in

12in=e Area of Base (B) - 144in?
Perimeter of Base (p) - 48in

LA = %p| Lateral Area (L.A.) - %(48)(10)

V=14Bh  Volume (v)- Y5(144)(8)



Example 2 Base Edge (e) - 20in
24in = h /M 26in = | Height (h) - 24in 24in
/ Slant Height (1) - 26in
20in=e Area of Base (B) - 400in2 O™
Perimeter of Base (p) - 80in
LA — %P' Lateral Area (L.A.) -1 (80)(26)

26in

V=14Bh  Volume (v)- }5(400)(24)



Example 3 Base Edge (e) - 16ft
z 17ft

Height (h) - 15f+ 15f+

15f Slant Height (1) - 17ft
o V | w Area of Base (B) - 256ft2 8f1
Perimeter of Base (p) - 64ft

LA. = %pl Lateral Area (L.A.) - % (64)(17)

V=14Bh  Volume (v) - ¥3(256)(15)




